O ZERBERUFETHAMKE (1 4 HFh)
=n 1cm 50cm Tm = - o b0 1 %

No. fEskA BIE | BAE | B0E [ BAE | BE | BAE BAERESR KA 2 M
PhRFEREE 0. 05 0.05 0.05 0.05 0.05 0.05|mEVT ZBEKE—FTF) . 20t 1 4Em 15
ABRFEREE 0.05 0.05 0.05 0.05 0.05 0.05|=ZBEFREVT. Z0H5 &R 6
IEFEREE 0. 05 0. 06 0.05 0. 06 0. 05 0. 06|ZBR—FHERELT 11
AIFEREE 0.04 0.05 0. 04 0.05 0. 04 0.05|ZEARENT. 204t 2 &fF 9
SIS LEEREE 0. 05 0.05 0.05 0.05 0. 05 0. 05|t EMAIHE. Dt 9 BFf 10
EFEREE 0. 05 0.05 0.05 0.05 0. 05 0. 05[mEPRMENT. Z0H 1 OBIFR 11
I AHBAZREREE 0. 05 0. 06 0.05 0. 06 0. 05 0. 06|25+ ~+ L& 4
Q| RAHAZFEREE 0.04 0.05 0.04 0.05 0. 04 0. 05|@EIFE NF. 204 7 & 9
IIBEFEREE 0. 05 0.05 0.05 0.05 0. 05 0.05|%xEREVT. ZDOH 1 OERT 11
BERFEREE 0. 06 0. 06 0.06 0. 06 0. 06 0.06|=AIRMENT. ZDih2 & 3
TEFEREE 0. 05 0. 11 0. 05 0.13 0. 05 0. 11|@mEAREVT 9
RAFEREE 0. 05 0. 05 0. 05 0. 05 0. 05 0. 05|%EREVT. D 3 &R 4
BEt 44— 0.04 0. 05 0.04 0. 05 0.04 0. 05| & dE . Znit 1 3 &R 16
=3 TSHHEWL 0. 04 0. 05 0.04 0. 05 0.04 0. 05|@BIRE LN T. =DM 7 B 36
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